=

T FoA freElee 2 Y7

oo

0.373737 0 & 24174 1.2345678--- 1000

@ 274 @ 374 @ 47 @ 571 ® 671



|
10 |

® 620

@ 63

® 60

@ 6362

@® 636



g 84S 250355 E42 ey 1 o x = 250352 &
o, J Q3o 429

- :

roh r

@ 100x — x @ 100x — 10x 3 1000x — x

@ 1000x — 10x ® 10000x — 100x

ﬂ



4. x=2380]2t & o, 100x - x 2] S Fatoiet.

B
2



T 844 0.04 4 0.16 = HEEA] Al4lstA?

D 0.20 @ 0.206 ® 0.21 @ 0.216 ® 0.220



op

® Feais §e47k ohuth



7
22x3%x5



7h)

3.02

@ 3.020202---

0.37

® 0.373737---

1.513

@ 1.5131313---

0.34

@ 0.344444 - - -

3.213

® 3.213213---



ES
o
__O._

— |

<f |~

|




10.

2 JEhy W, 0.72222- -

o uf, A% x 2] 7

@ 11 @ 13 G 17



11, &84 04201 9] 257 of) 3104 AHelo] 245 Tatolat.

> L
=¥



sholat

g7

ot 500 A A} 2] S=2t

]
™

2~
an

d

-

Ul



45

53
90

@






15.

.. 1
L2001l =—
99

Aot [ oo ggre

Q& o] g5}o] 5.16 2 B4 1A= 1)

2 Az etole

5.16 =5+ 0.16
=5+0.161616-- -
=5+ |x00i

1
5+ Ix=




16. o[ et s, <, =F g%

©
—

7]

fo

i
x

o

N~

[ ]3.

4

-




_ 3
17. "?“T/—\—-]TO<)C

IA
)
o
filo
rEI
I
>,
N
rr
N

94 x 9] A4

@ 071 @ 170 ® 271 @ 370 ® 47



ol
N

ISEIES]

2 Yt ¢ - 0.2, b+ 0.1 o]t}



@ 5

2 YErga g



=2 d

20. ofd fof 4.2 & FalloF

gdASFR R
A7 AEEY 0.6 o] A Uit BhE o

B~
[

£ wokdE Y Axt

O 108 @ 112 ® 114 @ 118 ® 123



Q_E} o][qL

@ 90 ® 9



rr



23. = So(ais 100 0159 A5 2w, 17 7L oba fead)

5= a9l gel 5 F5tefeh

D R
=%



3
ZOM. olwl, a + b o] F2? (10 <a<20)

@ 43 ® 48 @ 55 ® 59

O 34



25. 04+2 {% + (0.2 - g)} _ 092 Axtstolet.

Do @ 0.1 ® 0.12 @ 04 ® 0.89



